Yang Tutorial

gooboboodg gboo

1 yang 00

yang 00000000000, shift operator, g-shift operator 00000000000 Risa/Asir 000
OO0000. 000000 yang.define_ring 100000000000, 000000000. 00000
00000000000, yang.define_ring 000000, 00000000O0DOOODOOOOODODOOO
U, yang.define_ring 0 yang.pop_ring U0 UO000, 00000000O000COOOOO0OO0O0DO0O.

yvang 0000000, 000000,000,00000000000,Pfaf000000. 0000000
ooooooooooooooon.

2 Appell’s i 0000000,

ocooo,00000000000DOO0O00DDOO0,00000DD0 RODOOODDODOODDOOODO.
obooobO0b0oobOobobooobOobn,yang D.xrr 0000000 O0O0OOODOO.

ohara:™> asir

[1] load("yang.rr");

[2] yang.define_ring([x1,x2]);

{[euler, [x1,x2]], [x1,x2],[0,0],[0,0], [dx1,dx2]}

0000, R=K(z1,z2)(01,0:) D000 O0O0OO (0; = 2;0;). yang.define_ring 1000000000
000,x10000000000000DO0 6,0 ax100000DO.00000O0ODODOODO.

[3] S=dx1+dx2;

S=6+6,00. ROOOOUO,000 +0000000000. 00, K(=1,20) 0000000, O
o0 «0000000000.

[4] L1 = yang.mul(dx1l,S+c-1) - xlxyang.mul(dx1+bl,S+a);
((-x1+1)*dx1-bl#*x1)*dx2+(-x1+1) *dx1"2+((-a-b1) *x1+c-1) *dx1-bl*a*x1
[6] L2 = yang.mul(dx2,S+c-1) - x2xyang.mul(dx2+b2,S+a);

(-x2+1) *dx2"2+((-x2+1) *dx1+(-a-b2) *x2+c-1) *dx2-b2*x2*dx1-b2*a*x2

L1:01(S+c—1)—x1(91+b1)(5+a)I]IZI R/:K[$1,$2]<01792>DDDDDDDDDD yangmulD
O0000.000, K[z,2] 000000000000 0O0O0OO. 000000, yang.mul 0000000
OO0 R OOOOoO0.

(6] G = yang.gr([L1,L2]);
[((=x272+(x1+1) *x2-x1) *dx2" 2+ ((-a-b2) *x2" 2+ ((a-b1+b2) *x1+c-1) *x2+ (—c+b1+1) *x1) *dx2
+(b2*x1-b2) *x2*dx1-b2*a*x2"2+b2*a*x1*x2) / (-x2" 2+ (x1+1) *x2-x1) ,



(((=x24x1) *dx1+b1*x1) *dx2-b2*x2*dx1) / (-x2+x1),
((-b1l*x1*x2+b1*x1) *dx2+ ((-x1+1) *x2+x1"2-x1) *dx1" 2+ (((-a-b1+b2) *x1+c-b2-1) *x2
+(a+b1)*x1°2+(—c+1) *x1) *dx1-bl*a*x1*x2+bl*a*xx1°2) /((—x1+1) *x2+x1"2-x1)]

RODOOODO I=(1,L,) 0000000 GUOO0OODOO.OD0OOOO

)

G { 1102 + (bowy — ba)xoby + tabhs + (—braz3 + brazixs)
—23 4 (z1 + 1)zy — 21
(—x9 4+ 21)01602 + (—b2x2)01 + 12165
—x9 + 21 ’
t39% + ta61 + (—blwll‘g + bll‘l)eg + (—b1a$11‘2 + blam%) }
(—z1+ Do + 22 — 1

gooooo.oog,

th o= —ah 4 (14 Day —x
ty = (—a—by)a24 ((a—by+bo)xy +c—Dag+ (—c+1+by)xy
ts = (—x1+ Dz +2? -z
ts = ((—a—0by +by)xy +c—by— Dag+ (a+b))ad + (—c+1)ay

oo00,00000 ROODOOOODO.
o000 r7go0ooooooooo.cooooooon

[7] yang.stdmon(®);
[dx1,dx2,1]

oooooo.o0oo0o r1oo0o0oogo 300.
0000000000000, RO0 t=(2,—21)0? 00000000000.0000 yang.nf 000
go.

[8] yang.nf ((x2-x1)*dx172,G);
((-bl*x1*x2+bl*x1) *dx2+(((-a-bl+b2) *x1+c-b2-1) *x2+ (a+b1) *x1" 2+ (-c+1) *x1) *dx1
-bl*a*x1*x2+bl*a*x1°2)/(x1-1)

00000000 mod IO

- ((ma—by +by)xy +c—by — V)ag + (a+ b))zt + (—c+ 1)z10
= 1
Ty —1

—blxll‘z +b1$1 —bmxlxg —|—b1aac%
0 +
xr1 — 1 T, — 1

00 ;O PLfO000O0O0OOOOO.

[9] Base=[1,dx1,dx2];

[10] Pf=yang.pf (Base,G);

[ L0 ()/(x1)o0]

[ (-bixa)/(x1-1)

(((~a-b1+b2) *x1+c-b2-1) *x2+ (a+b1) *x1 2+ (-c+1) *x1) / ((x172-x1) *x2-x1"3+x172)
(-b1*x2+b1) / ((x1-1)*x2-x1"2+x1) ]

[ 0 (-b2xx2)/(x1*x2-x1"2) (bl)/(x2-x1) ]

[ 00 (1)/(x2) ]



[ 0 (-b2)/(x2-x1) (bl*x1)/(x272-x1*x2) ]

[ (-b2*a)/(x2-1) (b2*x1-b2)/(x272+(-x1-1)*x2+x1)

((~a-b2) *x2"°2+((a-bl+b2) *x1+c-1) *x2+(~c+b1+1) *x1) / (x2"3+(-x1-1) *x2"2+x1*x2) ] ]
[11] length(Pf);

2

[12] P1 = Pf[0];

[0 (1)/(x1) 0]

[ (-blxa)/(x1-1)

(((-a-b1+b2) *x1+c-b2-1) *x2+(a+bl) *x1"2+(-c+1)*x1) / ((x172-x1) *x2-x1"3+x172)
(-b1*x2+b1) / ((x1-1) *x2-x1"2+x1) ]

[ 0 (-b2xx2)/(x1*x2-x1"2) (bl)/(x2-x1) ]

[13] P2 = Pf[1];

[ 00 (1)/(x2) ]

[ 0 (-b2)/(x2-x1) (b1*x1)/(x272-x1%x2) ]

[ (-b2*a)/(x2-1) (b2*x1-b2)/(x27°2+(-x1-1)*x2+x1)

((-a-b2) *x272+((a-b1+b2) *x1+c-1) *x2+ (—c+b1+1) *x1) / (x273+(-x1-1) *x2"2+x1*x2) ]

gooobooobo.obobo 3booboobooboobo. ooo
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AO00000000DO0O0OO0OO0O0OO0O0O00O0O0C0O0OODO0O0O0OO0. 000D A0 ODODDODODOOOODO OO
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[1] load("yang.rr");

(2] A=[[1,1,1],[0,1,2]1];
[3] B=[s1,s2];

[4] GKZ=[A,B];
(Cl1,1,1],[0,1,2]1, [s1,s2]]



[5] yang.define_gkz_ring(GKZ);

[[x1,x2,x3,s1,s82],[0,0,0,1,11,[0,0,0,-1,-11]

[6] E = yang.gkz(GKZ);
[[(1)*<<1,0,0,0,0>>+(1)*<<0,1,0,0,0>>+(1)*<<0,0,1,0,0>>+(-s1)*<<0,0,0,0,0>>,
(1)%<<0,1,0,0,0>>+(2)*<<0,0,1,0,0>>+(-s2) *<<0,0,0,0,0>>,
(1)%<<1,0,0,0,0>>+(-x1)*<<0,0,0,1,0>>, (-x2)*<<0,0,0,1,1>>+(1)*<<0,1,0,0,0>>,
(-x3)%<<0,0,0,1,2>>+(1)%<<0,0,1,0,0>>], [x1,x2,x3]]

yang.define_gkz_ring 0000000000 0. OO0ODODOOODOOCOODOOO,000 300,000
0o00do00odo,0d00ddogd ;00000 ooooooog.

yang.gkz 0 A-O00000O0O0O0O0OOODO. EO A O0O0O0O0OO0OOOOOOO.
oboboooobooooboooooobooog.

[7] IA=yang.gkz_toric(GKZ);
[(x1*x3)%<<0,2,0,0,0>>+(-x2"2)*<<1,0,1,0,0>>+(-x1*x3)*<<0,1,0,0,0>>]

/A000000000000OOO0OC0CO0000000OoOoOoOoOoOoOOO. DOooooooooo
gooooooog,

[8] yang.compute_toric_kernel (GKZ) ;
[[-_x2*_x0+_x1"2],[_x0,_x1,_x2,_t1,_t2]]

U000 yang.gkz_toric_partial OO OO.

4 APIO0OOOO0

yang.define_ring(Ring)
Jdd0d0O0yang 000000000 0o0oooooobobobObObObODbOO000000oooooooooo
gddbooouobooodoboouoboouobooo

Ring O OO
Ring := ’[’ ( Vars | RingDef ) ’]°
Vars := Variable [ , Variable ]*

RingDef := RingEl [ , RingEl ]=*
RingEl := Keyword , ’[’ ( Vars | Pairs ) °’]’

Keyword := "euler" | "differential" | "difference"
Pairs := Pair [ , Pair ]*
Pair := ’[’ Variable , ( Number | Variable ) ’]°

yang.pop_ring()

gooobobbboooboooooobboboooo

yang.operator(Variable)

Variable 000 0000000000000 O0OO0OOO0DOODOOODOOOOOO

yang.constant(Number)

Number 000000000000 OOOOOOO yangpfafian 000000000000 OCODOOOO0O
yang.multi(DPolynomial, DPolynomial)

goopooooooobooo

yang.nf(RDPolynomial, Ideal) (O O : yang.reduction)

RDPolynomial 0 Ideal OO0 O00O0O0OIdeal 0 ODOOD0OO0ODOO0DOODOOOOOODOOODOODO



RDPolynomial := DPolynomial | ’[’ DPolynomial , Polynomial ’]’
yang.buchberger(Ideal)
Ideal := ’[’ RDPolynomial [ , RDPolynomial ]* ’]°

0000 Ideal DOODOODOOODOOODOODOOODOODOOODOOODODOODOOODODOODOOODOO
0000000000000 00 deal DOODDOODOODOOODOOODOODOODOO

yang.stdmon (Ideal)

000000 Ideal OOOODOOODOODOO

yang.pfaffian(Base, Ideal)

000000 Ideal DOODOOODODOOODOOODOOODDOOODOOODOOPfaff000000O0O00OOPfaff
00000000000 Base DOOOO(DOODOOUOOODOOOOMN)

Base := ’[’ DMonomial [ , DMonomial J]x* ’]°’



